10km
A-Line
B-Line
A-Line 140+170+115+70
B-Line 155+160+75+90+75
16.50m
B-Line

30m

@ wRetE—TIA=%

495m
555m

JCT

1

(2003 )




@ mrenE—I2A=%

A-Line

1 (2003 )

50 N/mm?

40 N/mm?

50 N/mm?

1528.6

SPWC 109¢ 7mm SWPR7B 19S15.2
ED
£ £ — & B (A-LINE)
& E
# & 495000
.‘A’ ‘\\\ # & 494200 = — 5 — 24
-A"\\\}%}\*}w..|-.-.munmm-mummlumm 7 S i
S o\[[ [B © & - B
7 ~JE-
g

2t — & B (B-LINE)
fl&JE

# £ 955000
#i £ 554200

152600

19630
19330
8250 800,

8250

19630
160 19330 JY%Q
800 8250 8250 800 1800
’ # ’ ’
AHEBPIDER BEYDOR
& = -
\ g
4309
14155 LHQ 2574
2897
3651 1.

2606 1}




@ wset E—I=% 1 (2003 )

27.6
37.6
STEP STEP
S A NN H—8—+&f
N N e e N N s |
p—T T
® I
26585 J} @
STEP
\ SIS IS SN STEP 6.8m+ 4@5.6m
; \ T LERCo+ B
27600 @ G
Y l |
STEP (6.8m+4@5.6m) o )
TFHMRCo+ 21
[ (1] [N SRS STEP
1] [Se—
. ®
5444 (1528.6)
PL-360X19 SM490Y PL-750X40 SM490Y M N M N

—IREDAE | EIRREERE

503 N/mm2 491 N/mm2
-10.48 N/mm2 -9.63 N/mm2
&) =)
-114659.6 | -53974.1 | -114659.6 | -53974.1

0.03 N/mm2 -0.19 N/mm2

360 PL-500X40 SM490Y 500

(&#t)

& = 11.43 N/mm2 10.49 N/mm2

566 7660
506 N/mm2 472 N/mm2

A PL-360X19 SM490Y A
(&)
095 N/mm2 0.86 N/mm2
A(m?) I(m*)
13.32 4528

14.54 109 | 4832 1.07




(2003 )
1.0N/mm?

1
o x(N/mm?)

o o o
7 g g
Plp oo od o oodae Pl 2 2 99 o o ode Ple @ 2 @ 9 o0 od ¢
D D O © O O ©o o g D D © O O © P O © © g D D |© © © © & O o © d D
D D O o n w0 o n g n '3 I W0 o wn n D n g '3 D © o wn n o wn B | D
EHS " S 8 g 9 R 9 S P a3 4 g R S 2 P S 8 ¢
AN ) S IR B
,,,,,,,,,,,,,, P, [ I A,
o o
— [T —
v ]

{
a0
A

=

‘—0—0 su (N/mm2) —3—ao sL (N/mm2) ‘

[—o—0 su(Wmm2) —0— o sL (W/mm2)]

‘—0—0 su (N/mm2) —0—o sL (N/mm2) ‘

-120 -11
AP3 (m)
-120

AP3 (m)
-120

R 17320

)

@ wtan E—T 2

(

-[130
-130
-[130

1528.6

a c(N/mm?)

[—0—0 cu (V/mm2) —0—g cL (NV/mm2) |

)

(

2_ON/mm?
170N/mm?
STEP

.
Ig g s
- i i
(zww/N)s © (zwuw/N)s © (zwuw/N)s ©
o < o o o
4 £ T P d
P P e e e PR e e £ PR RPReR 2P £ PR PRPRIR 2P
=] T P ¢ - - Q oI~ T o) o = O IO st ¢ ¢ bl D L3 m s n o W D IO st ™M ¢ Enl D «—« (N 0 S O o]
DR (A = S 2 T O
)
© °
4 o
(= -1-g-- - R R =
: g ol [FT B i N
~ —
g £
(an) S (an) £ ()
~ Q 2 — S > S
=} — — = .- - EEEER
bt B © A - = 3 L ﬁ;
W = 5 T <o o
? : ?
> ™ D @ D
o [a
S < 3 < N
) I s
L N
U
xm
(=] R — D q
@ - b §
4 a i
7 I mw.
Mw. vl
£ L f -
[« .- (=] (=]
41_. + ”u + 1 Hu + 1
(zww/N)o © (zww/N)o © (zww/N)2 ©
o o
L (NN}
= =
wn wn

(m)

AP3

(m)

AP3



(2003 )

1

=

@ et E—I2

=200:0

9 9 9
< 9% e o o o > © o @ gt e e @ > 2 ¢ 9%l e @ > @
D D Q [+ D D
= Lo B 3 8 B 8 8 3 & L & B g S B @ L8 8 & 2 B
£ SRR - I 4 43 s 9 F YRS S = 4
S |2E pormee |- EX- A e bt nte B = I R B to=f=-q
/NI\ w 1 w w
IR / K K
e} Y PV - [y P B P [ Lo_l_.
S 5 9 9
o w o™ oo
] - —
FE F_.r_ FE
L 2 9 L2 L2
=2 ; =g =g >
w w w
K =
L
>
g9 9Q X X
oo [T [T [ql
L L L 0
==z == == = [
o v
> AW
— %
N 7
1+ 1+ 1
i
(zwwi/N) x © (zww/N) x ©
— w w w
= = u u
£ z < <
— x I >4
w w
N
[¢] o) o
2o}
g z z
w Iy [
) D o o P D o @ > o © P D =
D D O D mu D D D O D D D D
h N o D n b g » o g] 9 H H =
43 > 1 ED B 4 & i B 8 &
ST = &
- 0 o
L g N
—~
w w
N <]

STEP
STEP
STEP



START

@ mrenE—I2A=%

H912

1

(2003 )

-11
3_ON/mm?

CZ<:<::.

-12

END

10 11
3.0N/mm?

12

40:60




(2003 )

1

==

@ wseE—I

19680

00S¥
14
os2]| €EE6
o\
| oS X
~ 8 7N
B N
g
(\s]
a
.
- ~
- ol
°
= Ol %
[v]
0 ~
-0 =
o
ol
[+
OL)
1 B s
[+
....... SHI o
n
£ == N
02| o 002
ol o %m/mm/ 0067 /Aﬁ_m g -
n m ,A =1
NE : i3
I3
o
IW ........ ﬁ
OL o
O
ol
ov
OI.
[+
........ o
&
O
W ~<
[ \00
@
o
o
3
0
0 o
nl 8 M
NE =

13 18 /

FIHHHHHE
T 1 T 1 T 1

T
1

HHHHHMNH
1 T 1 1 1 1 1

-2000

(m)

12

—_—

_
i
‘,

11



@ wset E—I=% 1 (2003 )
1.2N/mm?
13
2000
-
T °
)| i
11 “
END
14
a)
Pe=520kN
Py=807kN
Type-2 61
61
72
kN
Type-1 Type-2
30132 28541 29018 37809 41076 48656
PC 520 520 520 807 807 807
58 55 56 47 51 61
b)
15 16 0.6Pu




@ wset E—I=% 1 (2003 )

= 3950kN 3.64N/mm?
17 1.2N/mm?

/ 3.64N/mm?

”|’||| || -3.00
m” M Free Fix Free : = 2.0
mm\m\wu Fix Free Free o &
i Free | Free | Fix S ::-::
|
i
i
i
lllll‘flﬂm{\l\\'ﬁ'ﬁ N/mm2 | 33x 10° | 200x 10°
#mﬁfm“."‘“ 0.167 0.3
il N/mm? | 245 77.0
#!F i SOLID | SHELL
i
.
! :
H - -3.0
-2.5
s 2.0
siieny FEEREE
S i S B
\\\\\\‘\:}\“\{%:3:%:\&{&\\ - Eaal| 0.0
! e s
e i i
R Ry )
Attt b if]
[ TRy
R e i
st o
B iy
o

15 1/4

) \/_ = %5@
S /27“ /=TS
1 //
/,
/// /
/y //
///
///
///
/,
1Ux105[‘3:10500

1/2
0.86N/mm?

30.5m



@ wset E—I=% 1 (2003 )
a)
100N/mm? 120N/mm?
8000
35000kN 2000 4000 2000
10000kN R=3000m 051
D-25 1 SIS
D51 @ :
18 D-25
D-25
Na 1 s
SN P 5> S )
3.3 10% D51
ctc150
2000 4000 2000
19 8000
18
26.0
o 24.0
% 297 N0
E
T
o 'e|
=1 E— 1R
129
o 10.0
% onN
S O.U
6.0
4.0
2.0
-60 -30 30 60 90 120 60 -30 0 30 60 90 120
500115p0 (N/mm2) (N/mm2)
00
19
50%

-10-




(2003 )

1

==

~
I
U
o
]
B
3

21

14

21

20

22

O

0.60 ,=30N/mm?

SMOOTHING S.MODE

FOR F.E.M

POST-PROCESSOR

SEKKEI KAJU-JI

FEMOS

(Stage 85)

-28.2N/mm2

MAX=4.7

Z
-32.1

STRESS

MIN:

COMBINE
CASE

22

-11-



()
23
75
24
1.5078 15989 1.060
1.0826 1.2628 1.166
0.9626 1.1245 1.168

-12 -

@ mrenE—I2A=%

1

(2003 )

.

23

5.0%

2.0%

2.0%

2.5%

2.0%

10.0%




(KN m)

@ wtenE—I2=% 1 (003 )

25

D25(SD490)ctcl125
26
30

27

10

-2000000
-1750000
-1500000
-1250000
-1000000
-750000
-500000
-250000
0

250000
500000

750000
0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 105 110 115 120 125 130 135 140 145 150 155

0 100000 200000 300000 400000 0 1000000 2000000 3000000 4000000
kN m
N

-13-



@ wRetE—TIA=% 1 (003 )

(H152 )

2002.3
1989.4
1998.1

-14-



